
 

Converting Fractions and Decimals 

Directions: Find the correct answer. Use your answer to navigate through the maze. Show your work. 

 

 𝟎. 𝟎𝟏𝟐 = 

 

𝟑

𝟐𝟓𝟎
 

−
𝟒

𝟑𝟐
= 

𝟐

𝟏𝟐𝟓
 

𝟒. 𝟐̅ = 

𝟑. 𝟓𝟔 

𝟏. 𝟓𝟑̅̅ ̅̅ = 

−𝟎. 𝟏𝟐𝟓 

 

𝟐. 𝟐̅ 

 

𝟕. 𝟏𝟏𝟏. . =   𝟑. 𝟎𝟔 = 
 

𝟗. 𝟒 = 

 
𝟕

𝟒

𝟗
 

𝟎. 𝟎𝟐𝟎𝟐.. 

𝟐
𝟐

𝟗
= 

𝟏
𝟗

𝟏𝟔
= 

𝟏. 𝟓𝟔𝟐𝟓 

𝟐

𝟗𝟗
= −𝟐

𝟏

𝟒
= 

𝟏. 𝟓𝟔̅ 

𝟐. 𝟓 

−𝟐. 𝟓 

−
𝟏𝟎

𝟒
= 

 

𝟎. 𝟐 = 
𝟐

𝟏𝟓
= 

𝟏. 𝟒𝟖 

 

 𝟏
𝟗

𝟏𝟔
= 

𝟑
𝟐

𝟓𝟎
 

𝟑
𝟑

𝟓𝟎
 

𝟎. 𝟐𝟐𝟐𝟐 … 

𝟎. 𝟏𝟑̅ 
𝟏

𝟓
 

𝟐

𝟐𝟎
 

−𝟕
𝟏

𝟗
 

 

−𝟎. 𝟖 

 

𝟕
𝟑

𝟗
 

 

𝟐

𝟐𝟒
 

 

𝟏𝟓𝟐

𝟗𝟗
 

−𝟐. 𝟐𝟓 

 


